= |E» N
Fu X N g . O I3
w o Lo z O\U. IO |1 =
=< L leN]l: o] T |5 K
- H N B » — |6 O
%2 M=) £ ™ =
o) ! @
- = 5 =
UNON 8l O
0n
s L o)
058 9 5
] _M m “ u g
5 8 g 9 5 s e8| w z
N N B x S 2 =) @ N © Zc 8 = a
+ ——+ “4.":. P il i il T fa¥alo) . =~ S (=) [« Vs E L W E Q
t = = t U0 65661 N N N N s/ o 3 e
+ —— ——+ ' 00-9- 17 122 Z ¥ | &
i T |V vare) 4868 W [ YoM 77 ,S o o
&g o Y A N 5| %
= o e C x| &
<
Dl ad =~ z =
sag|l = W L 2
8 S8 7 N
2 sERASE O
83 ssglegn| 2 o
- 80°9  L£661 1 857661 o o= =T =-=SFEQ = ) a lz|x
=2 S0 E e N | O
26°G + 0061 + 2 £.%21 8888235 B10O|9 |:/¢
- —+ 00661 + 2£°661 L ogc 4 1 i o= = ® Olg d B 2| a
89°G < #9802 -+ #9802 w.mw% MMMS.%RHN O X (AT -
— ~ <
c2es Quo=edosy = | N L
S-qo 2o2¥9%3 2| o =
T 7 & - S
Sc.c 5BSrESZE o &
[ 96 o9t 56l ] Loy oo temr] | 58 [FOETSI2E 5 x X
<+ . ®© Y 0 — o ©
. . LYo eg 9 HR8lo s LLl
- GZ°C - 2c964 1+ 807664 - £9F poswzigezy | 3w >3 N2 S 53 N
o LTas |BEaolyuxg o
Xelo OTou2g =Z
. Eiz: 32:33383| @ o
- 0G'C + 28'961 1 00°661 225 Z 5F2as5o o
| ner | 1 o2 |dw 2T T2 L =
0G°C + S£80Z + £+°90Z D 2° a = E(Z =
Z7:7 RUs 59§ = :
. — p=} —
- G/l T L8964 26964 xso 2 a 8 "2 O 5 5|z
- G/l + 65802 1 8£°80€ D o0 << _. X = [ig < ¥ | o
. ) ’ O o= Z 583 5 (@) z b |z
F /1] 1 68861 1 S8'861 © = £ 38 S x 5 s |2
i o © 2 gl =
3 : T Sl 1z |Z|¢
S = o Q k = - | =
s Ss 2 g - S |E |g|¢
o3 - 000 -+ s6961 1+ 2L 961 £8 5 N & = 2|2
JW 03 I wv - Gr80Z 1 wwe g g 5 o > :
S NT W | & ; 2 5
a 3 o| 2 w ) N|.. &
<] x z Qo o = O i EX
& B < N 5 =16:88 e
X 4 Q = < |<s9Q 3 z
= o N ] 0ol | <
@ e N o 02|32\ £ |E
S & d 2 m 2 Q E55g| 3| &
[ a : X =
. o = N <O A <= 3
-z207—+ecsoc + ooz | 4 z 3 x 5 W o P53 ¢
-¥1C— zgg6l + sc961 r£4Cmr 4802 1 21802
-1 e— 1 W80Z 1 1807 -
FG/ ¥ —- 9L'961 + 12861 - 3
3
S
F0G'G— 2,961 + £1'96) - M"WM
S X X
S = 2
S 2 2
-G 9——- 20961 < Z0°961 -
69 861 - 20°961 > S S S
=222
S 8%
()
= & & &
; A N P A ol N NnAo. . c © 9O ©°
£ =Y - N S t G0 86461 S N N N
R 8§ 8 8 % 83 R A e W se00- LA
=~ i o — S S S OU —
S N N N N N a [
AOu S 2 3} |
(5] 3
o £ o 3 =3 g 8
I3 -~ (o] m W °
Am.r m [y ‘S s -~ C|
2 | 8| & - g
S| & | & 2| 3|3 3
S [ [
) S N ©° =) ) N © w X = 2 I S
N e . S S S S S NN N N ane 0r04Z
L + viva.) 66-66+ N e R Y .2 06 Gt i T = L + (Vv 9£-642
- L/, 100012 100012
| 22°9 | v6961 | 6961 |
" G6°GC T 9,961 T 16561 ]
- 19°G +£620Z 1 £5£0Z
- 90°G + ££60Z 1 £6°04Z
- 9GY + ££°602 1 ¥5°01Z
- GO'v + ¥5L61 + SL°961 F 2Ly #5902 1 0¥'L0Z
- 67°C 1 £9£61 + 0£'961 - F 29°C 1 #6902 1 9££02 F YT + 80012 1 Lv01Z
. - 897 1 sloiz 1+ 2voiz H
F 0G'C + 62'961 + 65861 - .
5¢ - 06T 62402 1 £2£0Z
- %Wn - G861 <+ /9861 - - mN N -+ ££70¢ + ¢2'L0C
aS 3 88
mm 83 mw
N - 00°0 + 0¥'964 + 62°864 T . Q - 000 + Zz0iz + ¥20IZ
] 000 0§ - 000 1 6££0Z 1 60°£0Z {3 000 reoiz
(=] ~—
S AR S
-G/ | — £££0Z 1 £6°90Z .
FGl'Z—1 61012 1 60°0IZ
F6G'C— 1961 <+ v0'961 - Lnc7—4 62707 L 55 .
06 Z—— 62£0Z + ¥6°902 - | 06°C— | ooz | vooiz |
Lyoo—1 9z'961 + 86261 - F#0°C—1 £6'90Z + £6°90Z 90'¢—| v660z | £0012
F28°C—— ¥6'L6L 1 v6'L61
s P P P ] N nnQ o + +——+ ——— ——+ s nn-Q ALY
ot S & .&. T S [VVe YO+ + Pl Pl N s NN Azt n/_. e s & i (VAvare] -84-662—
[} S S > > — & Yy 7 1t + 065 Of - ~ - S Q —
b~} . S . >
° S s 3 S 2 3 S &
.
s |52 s | £ 8 R R
Tl e | 8 | o | @ Tl e |
- (15} [+ 5 Ly S
2 %| 3 S1s| % 28| &
S o o % nm. m. S o o
[w) [s o) N -~
8 8 8 & 8 8 S 8§ 8 8§ § N & S
+ T+ T . T T —06-8 Zh 56— + ——+ - s ' 068 24967 t — -+ + B0-8——+00E—T—B0°0+H—
- 61/ 0560 1 £0°01Z
- /8°G 1T L1861 1 L1861 .
- Qmm - 1£°90Z <+ 1£°90Z - - V.@ W - 85'80Z + 98°60C -
- 0L'G - 99'80Z 1 0£°60Z
- 6% 1 90'60C 1 ¥S60C
L z1v L ooz61 1 26261 - F CLY -+ ££60Z + $2°902 - F 86°C + 6602 1 ¥¥'60Z
F 29°C 1 00261 + 16261 - £9°C 1 ££'60Z - 12°902

- 9Z2°C 1 0¥'60Z 1 £#'60Z
- 0G'C + SL161 1 861 - 0G°C 1 80902 - 04°90Z

- 90°C 1 £v'602 1 L£60
- G/°) + 0861 + 0LL61 F G/'L + £1°902 + £0°902 -

- £1°| 1 8¥'60Z 1 62602
ﬂw.m Mrw ﬂwm L 290 + vs60z -+ 9z'60z -
T2 S TS
ﬁm - 000 + 98461 + 0526} - mm L oo 161907 + sewz - %m - 000 + 05602 - 62602

3 1x K3
&8° S S
-G/ L= 0861 1 161 Lo/ 1— ¢190z + 577502 -G9°l— v¥'60Z - £2°60Z
. -GZ ' C—- 2+'60Z 1 12'60C
F0G'C— SL'L6} + £2°261 F0G'Z—- 80902 + 04602 -
08 ¢—1 65602 + 02602 -
FE1'C—- 99'602 ++ 9960 - P P
Lopo—t zie1 + 226 - 687~ 8160z - 81602
e g, 1609 two5 e, 008 o] G, 068 o565
Q S S ) ‘S IS S S S ) S N N 1N S < IS) B
N =~ ~ 3 N N N N N 8 N N N S 3
hs) . S ] . >
518 | B 3 1% | ¢ 518 |t
.
g | 5| £ gl S| & s | 5| 2
pmv. o © O ® ® 2 [ O
3 3 3 S S S S S S
3 N N 3 & & 3 & &
S Q< Q< S Q- Q= S Q= Q=
[=2) N ~— [} N
g 8 g 8 3 5 8 8 & 8 5 8 8 8 8 R .. vz
A ] 008 H8464— e P 05— 9650808505 - e 008 | £z607 | 0/
- 6V 122502 1 £4'60Z Bel Bl kel
. - 81/ 0260z 1 29802
- ¥6°9 T 2602 - ¥1'60Z .
- 89°9 1 81602 + £5'80Z -
L /6° + 5161 + g5 161 - 619 90z - 150z L 209 + ars0z -+ 157807 -
- 99°G T £2'50¢ - 80°502 - .
- /8°G 1 #1602 1 95802
- 88°% + 02°50 - ¥0°60Z L 08% + L1602 1+ ##80Z
- CLy 1 SE'961 - SEL61 L 20 L creor L a0z - 6% T 0L'60Z - 2v'80Z
- 29°C 1 6£'961 1 0564 - //°C 1 £0'60Z 1 8£°80Z
- £2°C + 1502 1 S6'%0C - $Z°C 1 96'80Z 1 ££80Z
- - ¥/ 'C + 16802 + ££80Z
- 0G'C + 04261 1 L1261 - ¥GZ + £0'60Z + 2602 -
- Ll'Z 1 58'90Z 1 ££'80Z -
- G/°| 1 Si/61 1 6061 .
m VS| 200z 680z - vl 8802 -+ 26907
88 Wm - 1G°0 1 86%0Z 1 S840Z 88 - GG°0  0L'80Z - 82°802
g . . ’ T . T3 .
ﬁw - 000 12461 1 88'961 mm L 000 + 960z 1 £807 - 0 - 000 4 9980z 1 52302 |
+
&° MH MH
F¥8°0— 26'%0Z 1 08402
FG/ | —— S1Z61 1 8996 -G/ L —- 68902 + 6L 0Z -
. L/77—1 agvoz + 1707 4 G2 'C—1 85902 + #1802
Loc'z— orze1 1+ 09961 NN.N 98902 - ILv0Z
| 18°C— | 19%0z | L9402 |
. "c67z-T 990z T 990z -00°C— £580Z 1 01802 -
FCy ' C— 6¥'961 1 6+°961

1/ °€—— 90'80Z - 90902

———+——+ ——————— ——+ YaYalio] L6ChL : A I I o R nnQ . ————}—+ —— —y — . nnn s
(&) ) N & ') ~ |[VVU©e ldhdd N IR L t TG £4-$05— o S & Sy g v vy #3466
S > > S ) > | 5 N S S QI = = S S S| -~

2 2 2 217 S S§ S§ 8’8 ||z 8§ & & |8 8 R]|3
o — S =]
S| 8| ¢ B | s | & 3 | 5| 8
. P,
-2 S 3 2 5 Ko} -2 S L
= 2 2 -2 © © - © ©
S| 8| % S| s | % S| S| %
S| & | & N 2| &8
3 & & 3 & & S o X
2 X o 3 s 9 N 5 = 2 8 8 §© 8
11“ “1“:“ T T 668 5 2. .pﬂ_. n_/_ N 2. .nﬂ_. .nﬂ_. .01. .pi. N VaYalio] -
T t 00 $0461+ t +—— +——+ } TaTakiel £OPOZ— 1 } | + B6-8 Z0-662—
- 8/°9 6602 1 96°€0Z
- 719 + 16°961 - 16961 - 82°9 - £6'0Z + £6°€0Z
- 9G°C - 06'90Z 1 06'80Z
- £2°G +£2'702 1 L8507
L Z1 + 5561+ 12964 - m Y sz - 280z L o1y 610z -+ a0z -
L 29°c + 5561 -+ 59961 - - SLE 18202 1 6£20Z 1 L £9°c + s6720z -+ 08002 -
L 057 + 2e961 -+ 15964 - - 69°C 1 v'e0z - 2Lz L 067 + oz90z -+ 2902 -
. - GO'C - 6+502 + £9%0 -
F G/°L + 9£961 1 1#961 - G/°| 4+ #£'80C 1 £9'80C
- 0S| 1 15502 - 09°€0Z
88 88 §8
5 . B . . LT

23 - 00°0 25961 - 64961 - nm - 00°0 960z 1 05°€0Z ©8 -owo 08907 - R

AES JE RE:

= s -49°0—+- 15502 - G50z - S

FGL'|— 1 8v'c0C 1 I¥€0Z
-G/ | —— 95961 + L6G61 L6/ 1 —= #pc0z + sec0z -
. GZ'C—- ££'80Z 1 1#'802
F0G'¢— 25961 4 £8'G61 L0G Z—— 002 -+ 1£7€02 -
) -90°c—-t 9650z + 8270z 00— 89902 - ¥£'502
FCEC—1 44661 1 ££G61
F09°C— ££€0C + G20 - F99°C—+ $2'80Z 1 2802
-GS v —1 0£°€02 - 61502
F1Z'G— 5202 + £1°C0Z -
F¥/ 'G—— 12°502 1 60°C0Z
FGZ'9—— 81€0Z - 80502
F//'9— SL'£0Z 1 80°C0Z
FCE '/ —1 L'e02 - 60502
16°/— | sovoz | 60c02

—————+ +——+ 1 4 + VaValio] 1 Zony 1 M TSRS [ Pl = -+ -+ | + ——+ PR IR RR SN sl N nn‘o .
3H & —_/ ._&u. .AT LvAvare] 6 I0F cu. ..E.u. .4.. + .z_J. .n[“ “4 - - — &« .0. .nf. ..&. LU T LV v are] 9f1OF
=] ) > o S | = S S | 008 | eocoz | 60c0z = = S NS Q|

S 2 e 2| g S S | § S R||"% S 8 8 8 R ]| B
=]
B |5 | § 3| s | 2 8 | s | B
o Ao
S| s |2 S| s | = s | s | 2
Wr e e O © ™ 2 © ®
c = o c < <
g% |3 g1 3|3 §1& |8
3 < & S & & S < &
@ N < My by M N — [ ~ (=) =23 0 N
N N () [ j=] j=} S (=] (=) =~ = S S j=)
i ST s . N N N ~
+ T+ T + 06-8 52964 + “4_“ “n“/_“ “F“/_“ N 06-8 £67 t — — “pﬂ“ A 008 £6-
- vy, 1 22961 + 22961
- 00/ + %661 1 94°96}
. - LP°'9 T £¥60Z + £4'60Z
- 019 + 8c'661 1 60961 F L9 + r20z + 1207
- IGG + 10661 + 6651 - §9°G T oveor - eczoz o
- £8% + 661 1 16'G6) - 89% + 1802 - ¥£'60C
- 9CV + 86'%6) 1 856} L sz L 627102 1+ sz:202 - - 8CF + W'80Z 1 I£60Z
- ¥9°C -+ 6v'102 ++ £2202 -
- Z1°C 1 16661 1 Z£°G61 - 92°C 1 94602 1 ¥2'60C
- #G'C + £6661 1 69661 - 96T 90202 + §1'207 - - 1GZ + 12602 - 02602
. - 90°C + 6020z + 11202
- 28°| 1 2566} 1 95°G64 P d
- 8¢l + W20z + 90202 -
88 88 £8
o . (1) .

QS A U _mm - 00°0 1 91202 1 96°10Z - o8 - o0 08602 1 sosw

AE; JF AR

Q qQ Q

F91'L—+z1zoz 1 L8102

-G/ | — S¥'S6L + 91661 Ly/°1—= 01202 + £9'102
. -GZ ' C—-- 22'60Z 1 66'80Z

F0G Z— 0¥'G61 1 L0661 F61°C—- 507202 + 52102 -
-01°C—— 00661 -+ 00°661 -70°C— 69107 + 6910 -00°C — £460Z - 6807
/8¢ —1 26'90Z + 26'80Z

+ ——+ — — ' nn'n . N N L , nA‘a . s A sl N | nn‘o. oo
) N 2 : 066 Bh 61— e = ' Zh467—| S = N = e £9°562—
2 2 2 S 32| g S B 8§ & 8% SRR Y

= = o N N S N | 8 N N x R| 8
© . 3
3 5 | § T | s | § 3 | 5| 8
S o 5 S I S I
S S = 3 S £ S S <
va S 2 -2 N © K3 ® ®
c S f < [~y g
3 & & S & & S e &
© (o) < 2] N M N ~— S o ~— (=) (o2 [ve] N
S > > > > S S IS IS > X N N R R Y
] 008 #5F64 PP P e P T 068 7467 ot ] 08— R0608— 89607
- 2L/ 1 vv'802 1 19'60Z
- 29°9  #+'802 < 19'60Z
F12°9 + W0z 1 1oz
- 89°G 1 9/ %61 1 9L¥61 .
- 0G'G 1 61602 + 6+'60Z -
- 28% + 8161 1 69461 - G/ % + ¥2'60C 1 2¥'60Z
) - 8CY + 68661 1 96°00Z
- ZLY 1 2561 1 £9%61
- 88°C + 68661 1 167007
- £8°C 1 1661 1+ £G¥61
. - G/'C + #9002 1 181007
F 0GC I L¥¥6L 1 1G461
. - 00°C 16900 4 #£00Z
F G/°L + 16761 1 Sy 6l
s L 850 + s5v61 1 L0961 - = =
£8 §8 £8
. . o
oS I A e mm - 00°0 94002 1 £6°00Z QS - v - Ih60Z 1 cosm
AR o F NE
Q S S
/1L =1 £6%61 1 SZ¥61
-G/ L —1 I1S¥61 1 £Z¥61 LG/ 1 —= o200z + o¥00Z -
-GZ'7— 85'¥6 1 12461 - ) G 'C— ££60Z 1 L6'80C
| g7 ocsL | ozvet | -0G ‘¢~ S9°00Z - #£°00Z
i 67— T e1ves | 61961 ] -£0°C—— 0£°00Z + 0£00Z -00°C— 8260z 96902
-1G'C— 1 #6'802 1 ¥6'80C
—+——+——+ —— + YaValla} foray R A TP I LA . nna. . + A PR I PR R nno. AL
© ) ~+ Ny o [YV° Rldddd My S ST~ S + 00 £+062— - Y- SR + v0-¢ 0486
> ) S e > e S ] .I = = I .I
2 2 2 2 27 S 8§ 88 ] 2 2|73 S 8§ & & §|3®
R} . 3
o S S B S 2 8 S W
s} L S S S N 5
2| 5| = g | 5| £ 3| s | =
.nmv. m 2 .o L [ QD [\ [\
S| s | S s 15| s S| 8|S
3 & & 3 & & 3 & &
S Q< Q< () [a% o S Q= Q-
['9) < [N — (<) ~ — [« (S s8] N
2} ) ) > > S 8 N = = S IS} S
+ “1":“ “1“:“ “4“:“ iy 00-8 9Z06+ 2“ .m. .m nno . 2“ “n1“ .n_/-“ “n_/-. R\ nn'Q "
Kot ——t + v V) 66-66+— T T LI T vUo 14
- 96°9 1 95602 + 957602
- 8G'C + 1£'661 1 1£'661
- /Z°G 1 £2'80Z + 92602
- V6% 1 88261 - 88761 )
- /LY + 52802 1 £2°'60Z
- CLV T 206l + 28261 L Z1l'y <+ #2961 + 957661 -
- C29°C 1 20661 1 8L°Z61 L z9¢ + v2960 + 15661 - ¥9°C 1 86'90Z 1 £1°60Z
- 68°C 1 20'60Z 1 21'602
F 0GC I £L€61 + 69761 I 06°Z + 6+'661 + o661 -
- G/l + za'c6l 1 £9761 - G/l I £6°661 1 2661
= o = =
88 §8 £8
3 . . . < o =
ﬁm - 000 1 88561 - 05261 mm L 000 + 65661 + #1661 - o€ L w0 zi60z + wwe
N AS
Q'S =S s
S 5° S
-G/ | —1 28'€61 1 S¥'Z6)
. GZ '— 50'60Z + 16'80Z
F0G'C— 44561 + 95261
. 00°¢—_| oo v
F70°C—- 65661 < 28'961 L I i T % §H
12°c—"T 9890z T 99'90Z
F6/°C— ¥¥'661 1 SL'861
-C¥ b —1 6¥261 1 6+261
-£0°'G—— 29861 - 29861
S “L_u“ are el 068 866+ L e+ 60-8 67861 N S o 668 51
= o o > > S| Sy ) S| = b = S S S| %
2 = 2 ] N =2 2 g N Y Q Q 3
R~} — S
S S S 8 S 2 8 S 2
(s} e S e e S S
3 hS] ..n:u. m S 2 .M S 2
nm.r m b3 L Y () - [} [
S| 8|S S| s | % S| S| %
S| & | & 2| & | & 2| & | &
S ac o S & & S [ (2

GL91XL6C




	Sheets and Views
	30-2023_DP 25 etap II_POPRZECZKI-5.3


